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1. Determine the solution to the differential equation (10%)

2
’ x’:;-sx%ﬂuzo with LC.u(1)=2, w’(1)=8.
‘{ 2. Evaluate the real integral (10%)
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3. Find the Fourier series for the periodic extension of (10%)
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4. A 2 m long, laterally insulated stainless steel rod. has heat
generation occurring within the rod at constant rate of 10000 W/m’.
The left end is maintained at 0°C and the right end is insulated. Use
the specific heat C = 500 J/kg.°C, p = 8000 kg/m®, and k = 4.0 x 10°°

m?%/s.
(a). Give the governing equation. . (5%)
(b). If the 1.C. is
T(x,0) = f (x)
=200-100x, 1<x<2,
Find the solution for T(x,t). (15%)
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